I O " T T & EH = (AMY) XGWREKRHET

A # K % AERER(Z D fthTEED) AEMRIBO MR EER) No.OFEE 5 BB (1 4R riT i &) No.OBAZE &R (1 #R T 2B) a5t

Oo#-£#% Y g100 w100 DP=800 g100 w100 DP=1,000 g100 w250 DP=1,200 g100 w250 DP=1,200

FE £ m 92.0 m 8.0 m 3.0 m 20 m
% R s K+ & Bify &= HE CE HE &= HE &= e &
[HEHl ~{R#EIA] [l ~R#EIA]
EHLERR U As =ismp T m | 2.00%92.00 184.00 | 2.00%8.00 16.00 | 2.00%3.00 6.00 | 2.00%2.00 4.00 210.00 |SHEERREIMT
SRR HIFEA As,Con t=1omF m2 [ 0.75%92.00 69.00 | 0.75%8.00 6.00 | 3.00%3.00 9.00 | 2.00%2.00 4.00 88.00 |SHLEARIBHIFEIA
AR HIFE A 2 0.28BH m3 | (1.030-0.05)%0.75%92.00 67.62 | (1.230-0.05)%0.75%8.00 7.08 | (1.570-0.05)%3.00%3.00 13.68 | (1.570-0.05)%2.00%2.00 6.08 9446  |[HEMRAEAEIFEA
HIERL e 0.28BH = m3 | (0.730%0.75-0.011-0.013)%92.00 48.16 | (0.780%0.75-0.011-0.013)%8.00 4.49 [ (1.120%3.00-0.011-0.057)%3.00 9.88 | (1.120%2.00-0.011-0.057)%2.00 4.34 66.87 |HEHIERL 1)
TrERET ARC-40(RC) t=25cm  m2 0.75%8.00 6.00 | 3.00%3.00 9.00 | 2.00%2.00 4.00 19.00 |TER#ET t=25cm
TREERET ARC-40(RC) t=15cm m | 0.75%92.00 69.00 6900 |(FERET t=15cm
TERET M-40 t=17cm m 0.75%8.00 6.00 | 3.00%3.00 9.00 | 2.00%2.00 4.00 19.00 |L[EERHET t=17cm
LEBRET M-40 t=12cm m | 0.75%92.00 69.00 6900 |[LEREET t=12cm
REIBT QA EAs t=3cm m2 | 0.75%92.00 69.00 | 0.75%8.00 6.00 | 3.00%3.00 9.00 | 2.00%2.00 4.00 88.00 |[REIET t=3cm
L E - 4E 6.0km = m3 | HEHIEHI*1.2 81.14 | HEMRARAI*1.2 8.50 | HeMEIEEI*1.2 16.42 | HeHhHRAI*1.2 7.30 11335 [FRL:EHk-0%  6.0km
AsTRE Rk 4tE 6.5km  m3 | 0.75%0.05%92.00 3.45 | 0.75%0.05%8.00 0.30 | 3.00%0.05%3.00 0.45 | 2.00%0.05%2.00 0.20 440 |AsEREHR 6.5km
AsBEM IR X 2.35 Astf  t | 3.45%235 8.11 | 0.30%2.35 0.71 | 0.45%2.35 1.06 | 0.20%2.35 0.47 1035 |AsBEdfqnzE
€3 11=)] €3 1=)]
AR YT As =15mpl T m 2.00%8.00 16.00 | 2.00%3.00 6.00 | 2.00%2.00 4.00 26.00 |EHEERRUIMT
LB HITEA As,Con w=tompt T m2 | (0.75+3.35)%92.00 377.20 | (0.75+0.60)*8.00 10.80 | (3.00+0.60)*3.00 10.80 | (2.00+0.60)*2.00 5.20 40400 |SHEERRIEEITEA
TREZIE HRMEL m2 | (0.75+3.35)%92.00 377.20 | (0.75+0.60)*8.00 10.80 | (3.00+0.60)*3.00 10.80 | (2.00+0.60)*2.00 5.20 40400 |FREEERIE
Edch DFHEAs t=5cm m2 | (0.75+3.35)%92.00 377.20 37720 |REL t=5cm
Edchn QFZHIEAs t=5cm | m2 (0.75+0.60)%8.00 10.80 | (3.00+0.60)%3.00 10.80 | (2.00+0.60)*2.00 5.20 2680 |[REL t=5cm
AsHRE 4tE 6.5km | m2 | (0.75%0.03+3.35%0.05)%92.00 17.48 | (0.75%0.03+0.60%*0.05)%8.00 0.42 | (3.00%0.03+0.60*0.05)*3.00 0.36 | (2.00%0.03+0.60*0.05)*2.00 0.18 1844  |AsHRIEH 6.5km
AsEEM IR % 2.35 Astf t | 17.48%2.35 41.08 | 0.42%2.35 0.99 | 0.36%2.35 0.85 | 0.18%2.35 0.42 43.34  |AsBER IR




2 4 + L + T &£ i F (AIMY) XGWREFFHET

A # X 4% FERUISE =111

o &-+ % Y 230 w20 DP=600

SiE £ m 20.0 m m
% 3 B K+ & B RN HE CE = 2 L
[1EEI~{REIH] [#EEIl~ R 8]
SHEE AR b As t=15mpF m | 2.00%20.00 40.00 4000 |SHZERREIMT
S8 B 3 I A As,Con t=tompl T m2 | 0.60%20.00 12.00 1200 |(EHEARIBAITEA
IR HIFEA T8 0.28BH m3 | (0.750-0.05)%0.60%20.00 8.40 8.40 |HeHIEBIFEA
HHWIBERL LA 0.28BH m3 | (0.450%0.60-0.002-0.001)*20.00 5.34 534 |#EHERL Iy
TRERET ARC-40(RC) t=15cm m | 0.60%20.00 12.00 1200 |TER#ET t=15cm
LERAEET M-40 t=12cm m | 0.60%20.00 12.00 1200 |LEEiR#ET t=12cm
RIEIET Q*BHIEAs t=3cm m2 | 0.60%20.00 12.00 1200 [({REIBT t=3cm
KL ER- 0y 4tE 6.0km = m3 | HEHIERI*1.2 10.08 10.08 |F%LEHk-05  6.0km
AsHR B AtEE 6.5km  m3 | 0.60%0.05%20.00 0.60 0.60 |AsFEH 6.5km
AsBEd IR x 2.35 Asii t | 0.60%2.35 1.41 141 |AsEMULIE




2 4 k L T T &£ & & (BIMY) XGWREKHET

A o B 5 AEMFEZDOMATEL) (o BBIR) | AEMREMZOMTEER) (B BER) | AEMBZEOHKHEL) No.E 54 5B (1 R i & &F) No.ERFZEER(1 R v & &F) At

o&-+®Y g100 w100 DP=800 2100 w100 DP=800 g100 w100  DP=1,200 100 wi00  DP=1,500 g100 w100  DP=1,500

HE £ m 17.0 m 80.0 m 3.0 m 3.0 m 20 m
£ g K <t ik BT g HE g HE "R 2 R HE "X HE &
(K ~{R#IE] [ Al ~{RIE]
EETil As wismu T m | 2.00%17.00 34.00 | 2.00%80.00 160.00 | 2.00%3.00 6.00 | 2.00%3.00 6.00 | 2.00%2.00 4.00 210.00 |SHEERRYIET
SIS RIEHITEIA As,Con tlomy T m2 | 0.75%17.00 12.75 | 0.75%80.00 60.00 | 0.75%3.00 2.25 | 3.00%3.00 9.00 | 2.00%2.00 4.00 88.00 |%HEERRIEHITIA
AR HIFHA X7} 0.28BH m3 | (1.030-0.05)%0.75%17.00 12.50 | (1.030-0.05)%0.75%80.00 58.80 | (1.430-0.05)*0.75%3.00 3.11 | (1.730-0.05)*3.00%3.00 15.12 | (1.730-0.05)%2.00%2.00 6.72 96.25 |#EHIEHITEIA
HHIERL 1)) 0.28BH m3 | (0.730%0.75-0.011-0.013)%17.00 8.90 | (0.730%0.75-0.011-0.013)%80.00 41.88 | (0.980%0.75-0.011-0.013)%3.00 2.13 | (1.280%3.00-0.011-0.013)%3.00 11.45 | (1.280%2.00-0.011-0.013)%2.00 5.07 69.43 |#HIERL 117
TRRET ARC-40(RC) t=25cm  m2 0.75%3.00 2.25 | 3.00%3.00 9.00 | 2.00%2.00 4.00 1525 | TFRERMET t=25cm
TRRET ARC-40(RC) t=15cm m | 0.75%17.00 12.75 | 0.75%80.00 60.00 7275 |TFREHH#ET t=15¢cm
LR T M-40 t=17ecm m 0.75%3.00 2.25 | 3.00%3.00 9.00 | 2.00%2.00 4.00 1525 | LFBERAET t=17cm
LTERET M-40 t=12cm m | 0.75%17.00 12.75 | 0.75%80.00 60.00 7275 |EFERRAET t=12cm
REIET QQ#HIEAs t=3cm m2 | 0.75%17.00 12.75 | 0.75%80.00 60.00 | 0.75%3.00 2.25 | 3.00%3.00 9.00 | 2.00%2.00 4.00 88.00 |{REIHT t=3cm
T L& 05 ME 6.0km = m3 | HEHIEAI*1.2 15.00 | HEHEHRHI*1.2 70.56 | HEMLAERI*1.2 3.73 | HEARIEHI*1.2 18.14 | HEMRAEAI*1.2 8.06 11550 [FELEH#-0%5  6.0km
AsTE R 4E 6.5km  m3 | 0.75%0.05%17.00 0.64 | 0.75%0.05%80.00 3.00 | 0.75%0.05%3.00 0.11 | 3.00%0.05%3.00 0.45 | 2.00%0.05%2.00 0.20 440  |AsEREH 6.5km
AsFE#H I0IE % 2.35 Ast?  t | 0.64%2.35 1.50 | 3.00%2.35 7.05 | 0.11%2.35 0.26 | 0.45%2.35 1.06 | 0.20%2.35 0.47 10.34  |AsEEMALIR
€5 11:)] €3 1:)]
EE U As =I5mH T m 2.00%3.00 6.00 | 2.00%3.00 6.00 | 2.00%2.00 4.00 16.00 |&HZEhRUIMT
SRR AT A As,Con t1ompF m2 | (0.75+3.35)%17.00 69.70 | (0.75+1.65)%80.00 192.00 | (0.75+0.60)%3.00 4.05 | (3.00+0.60)%3.00 10.80 | (2.00+0.60)*2.00 5.20 281.75 |AHEERRIEHIFEIA
TREEIE WEMEL m2 | (0.75+3.35)%17.00 69.70 | (0.75+1.65)%80.00 192.00 | (0.75+0.60)*3.00 4.05 | (3.00+0.60)*3.00 10.80 | (2.00+0.60)%2.00 5.20 281.75 | FEEEE
xET QEREAs t=5cm m2 | (0.75+3.35)%17.00 69.70 69.70 |RET t=5cm
E3=h QFHIEAs t=5cm = m2 (0.75+1.65)+80.00 192.00 19200 |RET t=5cm
3k DHEHEAs t=5cm  m2 (0.75+0.60)%3.00 4.05 | (3.00+0.60)*3.00 10.80 | (2.00+0.60)%2.00 5.20 2005 |RET t=5cm
AsHRE 4t 6.5km | m2 | (0.75%0.03+3.35%0.05)%17.00 3.23 | (0.75%0.03+1.65%0.05)%80.00 8.40 | (0.75%0.03+0.60%0.05)%3.00 0.16 | (3.00%0.03+0.60%0.05)%3.00 0.36 | (2.00%0.03+0.60%0.05)%2.00 0.18 1233 |AsHREHK 6.5km
AsFE# InTE x2.35 Asi t | 3.23%2.35 7.59 | 8.40%2.35 19.74 | 0.16%2.35 0.38 | 0.36%2.35 085 | 0.18%2.35 0.42 28.98 |AsEEM IR




2 4 + L + T £ & F (BIMY) XGWREKET

A # X 4% FERUISE =111

o &-+ % Y 230 w20 DP=600

FE pis m 2.0 m m
% 3 B K 5+ & B RN HE CE = 2 L
[1EEI~{REIH] [#EEIl~ R 8]
SRR BT As t=1sm T m | 2.00%2.00 4.00 400 |SHZERRYIER
S8 B 3 I A As,Con =10mst T m2 | 0.60%2.00 1.20 120 |S=hRIEHITEA
AR HIFEA T 0.28BH m3 | (0.750-0.05)*0.60%2.00 0.84 0.84 |#MWIERITEA
BHIERL LA 0.28BH m3 | (0.450%0.60-0.002-0.001)%2.00 0.53 053 |HEMERL Iy
TRERET ARC-40(RC) t=15cm m | 0.60%2.00 1.20 1.20 |FTRERERET t=15cm
LEREET M-40 t=12cm m | 0.60%2.00 1.20 120 |EERET t=12cm
RIEIET Q*BHIEAs t=3cm m2 | 0.60%2.00 1.20 120 [{RfEIHT t=3cm
KL E- s 4tE 6.0km = m3 | HEHIEHI*1.2 1.01 1.01  |BELEWR-05%  6.0km
AsERER 4t 6.5km  m3 | 0.60%0.05%2.00 0.06 0.06 |AsERIEMk 6.5km
AsBEd 018 x 2.35 Asii t | 0.06%2.35 0.14 0.14 [AsEE#AnIE




2 4 F L T T ES i *

At X % HIED HIEQ HIEQ HIED HIEG At

n&-£®Y H=1,200 H=1,200 DP=1,200 DP=1,200 DP=1,500

3 =3 m 3.0 m 1.0 m 1.0 m 1.0 m 2.0 m
£ g K <t ik BT g HE R HE "R HE R HE "R HE £ 71
K ~{R#IE] [ Al ~{RIE]
SR LI BT As wismu T m | 2.00%3.00 6.00 | 2.00%1.00 2.00 | 2.00%1.00 2.00 | 2.00%1.00 2.00 | 2.00%2.00 4.00 16.00  |SHLERREIMT
SIS RIEHITEIA As,Con wiomp T m2 | 3.00%3.00 9.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 | 2.00%2.00 4.00 16.00  |&HZEhR{EEITEA
MR HIFEHA X7} 0.28BH m3 | (1.200-0.05)*3.00%3.00 10.35 | (1.200-0.05)%1.00%1.00 1.15 | (1.200-0.05)%1.00%1.00 1.15 | (1.200-0.05)%1.00%1.00 1.15 | (1.500-0.05)%2.00%2.00 5.80 19.60  [HEHIEEITEA
HHERL FEL 0.28BH m | (0.750+3.00-0.000)%3.00 6.75 | (0.900%1.00-0.000)%1.00 0.90 | (0.900%1.00-0.000)%1.00 0.90 | (0.900%1.00-0.000)*1.00 0.90 | (1.050%2.00-0.000)%2.00 4.20 1365 |HHIERL FEL
TRERET ARC-40(RC) t=25cm m | 3.00%3.00 9.00 2.00%2.00 4.00 1300 |[FrEMR#ET t=25¢cm
TRRET ARC-40(RC) t=15cm  m2 1.00%1.00 1.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 300 |TFREMH#T t=15¢cm
LERRET M-40 t=17cm m | 3.00%3.00 9.00 2.00%2.00 4.00 13.00 | LFEERAET t=17cm
LTERET M-40 t=12cm m 1.00%1.00 1.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 300 |LfEEEAET t=12cm
REIRT QQ#HIEAs t=3cm m2 | 3.00%3.00 9.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 | 1.00%1.00 1.00 | 2.00%2.00 4.00 16.00 [{REIAT t=3cm
ELE-ny 4E 6.0km | m3 | HEIEHIA 2-RAETIBRL 5.67 | HEmAmEI1.2-FE HIBREL 0.48 | HHIBAIH 2-F4 L IBRL 0.48 1.38 6.96 1497 [BELE#-LH  6.0km
AsTE R 4E 6.5km  m3 | 3.00%0.05%3.00 0.45 | 1.00%0.05%1.00 0.05 | 1.00%0.05%1.00 0.05 | 1.00%0.05%1.00 0.05 | 2.00%0.05%2.00 0.20 0.80 |AsEEH 6.5km
AsEEH InTE %235 At t | 045%2.35 1.06 | 0.05%2.35 0.12 | 0.05%2.35 0.12 | 0.05%2.35 0.12 | 0.20%2.35 0.47 1.89 |AsEEM LI




